Homework Assignment for 6303

1. Given byte addressable 256bytes of RAM, 64bytes of cache, and 2-byte block, (A) show field lengths of tag, line and byte.  (B) In which line would memory location 01000011 reside? (C)What would be its tag number? (D)Which byte of the block would it be located?

2. Discuss the evolution of SCSI hardware.  Explain first three RAID levels.

3. What are the essential components of a power supply?  What does the computer power supply do?  

4. Do the following manipulations:

a. Convert 293  and –293 (2s complement) to binary.

b. Convert 01101011 to decimal

c. Convert 3A2 to decimal

d. Add 011101 + 110111

e. Subtract 01011 – 00111

f. True + False

g. True * False

5. Discuss the steps taken in the fetch cycle.  Make sure to mention all the registers and buses involved.

